BIAL 20231 Ol 2024 (iAot

8 438 7zm 6569z

=) HR=S (=)

61.8

42.7

D= Al EFErATt AT RRD, SIR=XI Z=t
1k THRIE OlUSHEl HE S KiE! ——
IR KIS Al QA SE E B FR2AINIZE

Sl — |
JIE[PNEES =2 Al EH| SI0| 2EJ | ASHS SiHkA|




iol
oF
T

ol i

e
O KH
K0 &5

0=

jod
ok

ol
i

SEHA =t

O A
Ho

FIEY

x{C
[ =]

f

|CH= 28 1=01 21

CH |

|

o4

0121017+ HE801 X2t k= Lt

o) |

w]

Xgl=C=at

74
24

1742}

o

=291 =

—

[ —

ot

0

PAL 22|

o =SS0 M

(S5

=/

09IAB,C,D

¢

k= X125 AICH

FAHIA

0

STl 2K BE
&
MIHDH

XX+ 212+ X125 CH

XC
==

SHEE N2 S S5t
=]

5




SILH 2ICHE AHIZ0! 21

A0 Aol £[1+F 13.2% 1Y *Is5 Zeoel e
(4ol 747 L1ESNARE
162.0— 18342+ /H,+21.30H) *(157:") FOEH:1,500H

(2EPH) 271 500

(3E) 24A12F: PHA () > 22y
‘15 M= A7 o] =
X|X 2 AMK | AFSE
xR EHEE LY ool SHEX| 2! St
(E2130%0[38t—32%0l3t, 1151040k
3990717 Al 1) (L15-12428)

AR L= PIAICH, SR A P12 X ]

e QI AR} 2| w

LA 11%) CHE
— 2| (2 4%) A2 2 et
(215,0002HH, 17HE X[ &)

SIELPE 2 E
(@10 & 18 X[, 88.3—1032HE)

e QIYR2] =2 61 o]
21 4+2~4012] OIAF

*Zols: 272988l /H +20ted
AP AH|A :59.4— 634421 /5 +42H2

ZXgi= L=l IFe

CHESIXHA Satd =] SHOI*(K-pass, '24. 72 £

“Z2|He7|s o= S H A 30%, 2EH20%, MASE53%

|&XIHAIE S A2 50% Z*
"ARIQIZIZ R 4937 AL
ArACER| &L

*7':-;*"34 9]1')\&"

Hxz = XEx|0].




2
azs=e

i 2 - =M% R&DE T El

BUH ST PM SO
RHEE O|AZH 7|t 17 A7

|CH 2259 S=XF

2] 7124 - cia}- 1P efo] iz sty
FHAE FEZOIIZHE
ot= O| 2 H|0|E-0|=Z HIO|R 7 |& B

tdH|2| 30—50%

A
AtR{H|2] 40—50%

O{El0|71 Z3 8101
XEiLi= Ligt

CIEMSISZ 71 ChasS

HEJ|EsE717e OFS 2= 2t
*HE17}0t5 SEloo] S ofalele] %7 Kzl
(2102t L)

A0te|=z Zu A E Sisl
olma} £xt 2l

*SUORITIE S0 ZI0[E 2 (+45714),
AORS IR (+57HA)

—

Oi2i=H| =X}

=o
=T

SR 7IHAME (84 5) A E X,

E4-587|U7 |2 8XHHIS

(B 5042, 22 1~2% LH2)

oA EM3ICHst- of7}o|O]
=OF i
(EHEA]) 920—1,700% (O|XFHX|, A7) 750

F 1840 k= L2t

EMIT FERS A2l AL
2SRt 20 2t}

KOIF=E FSX|H 7|2ty
(12->187H%) *22 25 2 0|4 S0 AR A

=W Of0| F1E{ A qH:} 0| 2A
X|glZH 2t 200—3002H)
HEFo] olar

*0M|: 7010022, 14| : 35502t

ESANE0ISHZ,

P EEEEED

2 2Kt 2I01S 9ot S} 2l

2!
I - WA K| LS - T 7 | D =il




AMUI2 E0j2] MAPSI1=
K-2HZX MiE- 2= X2

(A1) fth 2t 0to| SEX| A,

Cin= 2HX PR E 210
K CHAI MERZ] Z A et =4

K-2fIX MefHE MR =7
(£6,0004)
(BIO) HH[oiE, 7|22 &
MAN fZEo g
IPHE, +EHE, Hola i
K-Z2HIX REjHE EX} 2y
(Cyber Q1) DIZIX}2 EE, ° (25 6,900242)
g - K| o= el |4
* AO|HEQHHE 4 (437F800212 O Y)

FEEAS =R =2
- S+ 8IS
(Digital SEHEH ) HAHAEL|Q M=

TR MH| A" HS

*12| 20102 HE)4 ZEHA BX|Z2 S6HEH0|E

(250217, ~"251)

XIXEM + 2121 + X[ SLHER0]
Fok= XISAICH

A r{oio| XIELC O|AF
X|0| lat= L2 AeixIge ¢l A% SO{AI RES TIhelY
. 1208kl 1302H21/7}7
R|ofEtMst EXHHE A
(2HE 3,000242) TUREEY CA = 371 ol
(Akat, B, 2= 2=71)

MElRet=S 9
OZHE X|& (971 Al- &,135%

CIA)H L HSE — 2O A+

IHES 2EEEF Y
(SXIOHE 6002 /ha,
MQICH=0HE 4802t /ha)

23}
o

e . [m] X=] =
3074 chEt S 2A LS 2 MA, F100—200%+/ha &)

S EX} (etwet 547100024 2)




S0 22 ODAZHIE I 3

X272 FHA L WM - A SL32t0|Lt X| 2l ZHH (0.1-05x2
*i_'_

SAE TN (@4.22H) /
2 18,7817H(R 21, 2504 2t ol -EjUtX|H S
. xakx|od =Al x1el (1 4—
CH |22 xiaj2 olALS oIMIE|H SH| MEFX| S S X3 (1420

* A 9—124ak AL 7,510 0
CHEIRHEHS ShAL- SHt — B = ShAFE W FIHX|

C|X|E ClHt0] = o X| 2 Etch
(0.6-0.9%¢)

Hd elxtjel sje] TlE XA
(03—0.48t%)

S HAFL 50/, O|Ak < oF|* . =
S oE SRS AL Ml ofgre
O|RSAH1F 1Y 7IE CIs}7| QJst ol =™ x|2l St

Ol Ak (2139—400t2)) (03—0.7%8)

HIUOIS Y S Mu[A XA
(‘27177kX] 1002+) 2 * 1070 271618 52,2070

KHatof|at APEEAL 2EE (80—100F)

HoZex gamr|a M2 =Q Ko
X874 6AIZHA Of| 2753t
27| BEY 725(7574-2237H)




’ ‘244

234

A2IR| 2

’ ‘244

‘234

’ ‘244

‘234

’ ‘244

‘234

JISESMUIZHIRN

AH- "M
212t ZHH (=t 700t

Z WM
XDISSHI

1274 =71 5083

(XICH 2002+ XI2)

BIHRBID] AlE)

NEET &4
SMsiHat-

OEZHGION

HH=XI- 01X X
2,43038

S|

920

5021/ 5L47h 10704 XICH 2002+

(67221
40231/ = (5420

JIETIFEAIE SAl
(Areior=izZEr

=8 4937H)

IIZE-XHS2AAS

EYETE

214 30% gtol
(2 20%, MA=ZE 53%)

I =S

SAI=Z 50% &l FHOHX |2
[ZICH 331/9)

FH=(~'24.6)

s2AA
HEHM

4.2274 92tH 1,2002+&  1,0002+2

SEAIEN WK TEEHT, 4412)
1.4254 1.7207H

9002+ 7502+

={ERPIES) ABBIZIE X2

1258+




ST 014 X4 SAH|
HEHIOISH XIHZ

’ ] 3002+

0~1Ml XHY 2= 715 23
oAl 1Ml
10022/ o0/

350+l

SEHEELICE >

- ¢

I

Oi=0H M H0I280k
QISHI XIA 2593

HIXI
=21180%

234 2002+ 702t/

210l S (~%12 18A1)-
ORZH~x12 2441 TI2

0~2MIt
C{2101E XIA

8 DIZAHE
HRJ|E XIS
(Ef 2R 50%01&)

24\12t 202

MetiE|pns) olZaer  SROIRIOISHEUSIY

=
tit

S=E0S JIE XA

SADIT X2l SXIXIY A5
FEipe
ZEJlo8 924 03l 5of BHE

’ 244

234 ZEHTJIM 6 0I5 49 B

X SMF0}
S0 XI2 2HH

SAII1E 22X

SHIXIA =HH
(H0p7| 22t

2% S0ERE AZA

KOOI 12t HF =
B0 D% 3K Ol4
S0t ARBAL

ZICH 18702
ICH 12702

ZICH 4502+ /67HE
ZICH 3002+21/3702

KO 2212 B 24
12M1 0I5t XICH 367HEL,
= 10AIZH LH 100% =0 XIA

8Al 0I5t ZICH 2470,
Z= DAIZFLH 100% =¢H XA

=P

[ONFSE=F))
Jtelzt 2!

-3

2Tl 5~102H3 XIA

’ ‘244

234

XH|




ol OIA| EIRKRILICH o

|

|

oHal ol

o
<
4
N
l—l
oHl
]
ol
n
T}

ul
<k

)

1529110.3% =+=&]

o
sl

&0
ol

t

1032+tH (+14.7
(o]

(=

ozl
(60AIZY

& 63.42

g 290t
(30A12H

-« ‘244

H
o
15191 9.3% +&F)

|10
e

(0

& 59.42H=

‘234

Ui
<

o
i) BiF 570
Roi:

0i 00
oo &

=l

&
oJ
S
ik

0 .
S M M A
Hr =g 80 @ =<
O O <
40 Hy =
K0
KI0

2 @

= ¢
ms <
g Ur
K
Rl

S KM

€ R

7663

2 20A12¢

80

okl 700.62¢

& 33.42

PR

6963

2 16AIZ

|AtEr-XI2

& A
MHIA

2 1283

]

ozl
g IIE

& 3682
(M0IRSXHZ 1

‘244
r

k
<]

2 392+

e

& 3512

234

STBAL
o< 25t
L AESQETH

(&

== el
& RI= 3 018Exy

S

R0
Kio
E

84074

o ’ ‘244

'k
<]

'k
<l

74004

234



R
‘234
o 2ma
234

o 28

"’ ‘234

s A

32% Olot

(+3.9201=, A7 XIR)

2 183.42H=
(+21.3842, 13.2% A)

48%0I5t

(+22F It AT XIR)

92.72+&
(+1.72+24)

2 1620k 30% 0I5t 21 51.02t2 47%015t
uss
oA==0d (EQIAE 50%015H
SZE0H2
HIXI (+3.52¢ 46.12H3 65.42H 72.72H&
HOIO|DT} JIE XS 415212 58.90+H2 B5.40t
HSS Wtz
EDIE 11 B stoHo! ssR00
LENH MUIA 2 L TTLS o)

2=} =

15002 500z S==TH 12,494 2 90AI2H
(340)
A7 AR 1702 11.52+H 2 80AIZH
SrEHEIoNS! xHoHol 12 Z0H! FIHMS THIIXI
HEBR eTE = FIH 42122 SEXI)
167H ZICH &1 414242 1.32tH
1204 XICH & 40.38+2 1191
MAS CIEEHNE s 232 0|IX SRS S|
T Ea};_'-x‘itg!?_qa irg,'{,;_' XIZICHAY ZHH

T TEEE (+3.281=)

(BRI2= 50~100%)

XSt 40812
Ssta 5081 20038

SEH FORt
A1 A1

2125 63% 0I5k,

H
b= ~ TSt THE
= SIS 60% Ol
=TT 2HBAI OISt



20243 OIZA =2IELICEH

=
=

128Xt 2l @z1%) CH

X
T

e

bl
x=
e
[}
ol
na
=
wl
~0
=
<
Ikl
i)
)
3

ojoH
—_e

a4

CH
HIE: ZICH 80%

!

OIXHHIS
e & 3902t
[ 121)

ol

1

(2~1092F ME5HAI &4CH)

P | EEE3 H32%}2| =cH

[— ==y — =gy — )

S SX XA

a4

6002+2/ha

8= X OHEAI

} 2,008 XA

1216

1 XA

Ve
o

121E51,400

SEXIY
&0Pk= 2A=SXIA

&= 50% XIA

17t=*
17t

-°|El

1302t

’ ‘244

-
o

!

1202+

I= 20F M0

=X A2,
X

LI

GiHIS?
0.25=3 7

)

=
=)

t

-
(=)
e

HAIE (-2E 5)
CI2H2I (=

=28

-0

—
=
=

Ok

)

=
=)

=X 2H
QUIAE, FHH

oize
&9
[==]

LHHEIXILH HOAI1&
(1= AF

X 160702

A 1.0==
(&= 1.868212)

’ ‘244

=X 102702

234




